7 )
[KylL HUB Units and Bearings HUB Units and Bearings

Double row angular contact ball bearing C Double row angular contact ball bearing C

Two inner rings

DAC20420030/29| 20 | 42 | 30| 29 [0.18 565592

DAC205000206 | 20 | 50 |20.6{20.6/0.17| D 156704
DAC255200206 ;

617546A 25 | 52 [20.6[20.6/0.19| c | 617546A IR-8032;
415115M

445539 25 | 52 | 37|37 ]031| c | 445539AA 576467 FC12025507;

576457 FC12025509

c517

DAC25520040 25 | 52 |40 40|035| C

DAC25520042 25 | 52 |42 42036 c 25BWD02

DAC25520043 25 | 52 | 43| 43036 C

DAC25520043/45| 25 | 52 | 43| 45 |0.37| C

DAC25550043 25 | 55 |43 43]04a]| c

DAC25550045 25 | 55 | 45|45 |0.46| C

DAC255600206/29| 25 | 56 |20.6] 29 [0.28] c | 633280

DAC25560032 25 | 56 |32|32]034] E | BAH5000 445979

DAC256000206/29| 25 | 60 |20.6] 20 [0.33] c | 633272

6-256705 25 | 62 |20.6] 28 |0.32] D 2105-1006124

DAC25620028/17| 25 | 62 | 28| 17 |0.28] D GB10827

DAC25680043 25 | 68 | 43|43 |085| C

DAC25720043 25 | 72 | 43|43 ]0s88| c

801437 27 | 52 |45 43 ]034] C 801437 27KWDO02 DAC27520045/43;

DAC27520050 27 | 52 [ 5050038 ¢

DAC27600050 27 | 60 | 50|50 |056| ¢ FW120 27BWDO1J AR

DAC28520031 28 | 52 [31]31]031] ¢

DAC28560039/29| 28 | 56 | 39 | 29 |0.46] C

DAC28580042 28 | 58 |42 42 |049| C S OSSA; DAC2858W;
DAC286142AW;

DAC28610042 28 | 61 |42|42|056| D | vKBA1346 28BWDO1ACA60 | 513031;
IR-8549

DAC28620047/35| 28 | 62 | 47 | 35 |0.55| D

DAC29530037 29 | 53 | 37|37 |031| C 801023AB

DE0678CS12 30 | 50 | 20|20 |013| D DAC30500020

DE0681CS18 30 | 54 |24|24|02]| D DAC30540024

DAC3055CRK 30 | 55 | 26| 26 |0.23]| D 30BWDO8 DAC30550026

DAC30550030/25| 30 | 55 | 30| 25 |0.26] D ATV-BB-2 (open);

DAC3055W 30 | 55 | 3232|028 D DAC30550032

DAC30580042 30 | 58 | 42|42 |041| C 30KWDO1AG3

DAC30600037 30 | 60 | 37|37 |042| C D o00037-2RS;

Two inner rings

DAC30600337;
BA2B633313C; 529891AB: géfgggg\s%s-
633313C 30 |60.03| 37|37 |043| c |418780; '| 30BWDO7 _ ;
PRSASN 545312 B-81;
IR-8040;
c171
DAC30600037/34] 30 | 60 |37 |34 |04 | C
DAC30600037/43| 30 | 60 |37 |43 |045| E
DAC30620032 30 | 62 | 3232 048] D
DAC30630042 30 | 63 | 42|42 |0.56| C |VKBA1344 30BWDO1AC70 |513022
DAC3064W2RKBCS28
DAC30640042 30 | 64 |42 |42 049 C 30BWDO3ACAT78 | DA 00tV
BB1B630374/C4, | 522372,
DAC30650021 30 | 65 | 21|21 |o27| p |321BS ez IR-8014
DAC30650044/35| 30 | 65 | 44 | 35 |0.47| C
DAC30670024 30 | 67 |24 |24 034] 361971
DAC30680045 30 | 68 | 45|45 073 E 30BWD04CA19; |510031
DAC32700038 32 | 70 | 3838062 E
DAC32720045 32 | 72 |45|45]| 06| D 32BWDOS; 513150
DAC34620037;
BAHB3113168: 531910; : ;
3113168 34 | 62 |37 |37 [041]| c |B0NBS 29 IR-8051;
€300
DAC34640034 34 | 64 | 34|34 038 D |VKBA1382 34BWDO3ACAT78
DAC34640037;
DAC3464W22;
BA2B309726BA; DAC3464G1:
| 532066DE; ;
309726DA; Bl 34BwWD11; B-35;
309726 34 | 64 | 3713710431 B 1505104 200396B; | 34BWDO04BCAT70 [DEO7A39LL;
VKBA1306 GB10884;
IR-8041;
C490
636114A; 559529: DAC34660037;
580400 34 | 86 |37 |37 05| c (550008 Soa2s A | 34BWD10B DA
510017 34 | 77 | 41|41 ]082| c
DAC3565 345 | 65 |51.8 32 |0.45| D
DAC35618040 35 | 61.8 | 40 | 40 |0.43| E DAC3562W
DAC35640037;
DAC3564A-1 35 64 | 37 |37 |0.41| B [BAH0042 DAC3564A1CS45;
510014
DAC35650035;
DAC3565WCS30;
BT2B4456208: GB12004:
4456208 35 | 65 | 3535|041 c |B/25% 546238A e 12054503:
IR-8042;
C559
DAC35650037 35 | 65 | 37|37 |043] C 35BWD19E
445980A; DAC35660032;
c389 35 | 66 |32 |32 (042 c [2359%08 DACS!
DAC35660033;
BAH-0015; GB12306S01;
633676 35 | 66 |33 |33 043 ¢ |[gARDO1S oa08e,
c199




Double row angular contact ball bearing

Two inner rings

i\ .
1 A \
N
[ — i
E type >
i i : Bearing No. cross reference
LM Boundary dimensions (mm)|weight Sert [¢)
d D B C (kg) SKF FAG NSK Other
B2AB446047;  |544307C: ?g%e;@eoow;
BAHB311309:  |544307D: ;o
311309 35 | 66 |37 |37 [0.48| c [2ATORTNR . (2aesas: IGRE_sggégg
BAH-0023 581010A a0
DAC35680037;
DAC3568A2RS:
633976: 430042C; B-33;
BAH0031; 567918B; XGB12132;
633295 35 | 68 | 37137 1052] C |ga1pg3ssosF [541153a;  |oo0WD21(4RS)  Iag108410502;
BAHB633295B |549676 IR-8611;
IR-8026:
c172
DAC35680045 35 | 68 | 45| 45|063| E
DAC3568W 35 | 68 |33|30|047| D DAC35680033/30
DAC35680233/30| 35 |68.02| 33 | 30 [0.47| D |VKBA1342 35BWDO7A DAC3568W-6
DAC35720027 35 | 72 27|27 049 D
€392
DAC35720228 35 |72.02| 28 | 28 |0.49| D |BA2B441832AB |544033 IR-8028;
GB10679
DAC35720033;
BA2B4467628: IR-8055;
445535 35 | 72 33|33 |057| C [2ponauolo2R: |548083 512094504
c511
FW104: DAC35720033/31;
513002 35 | 72 33| 31065 D [[VCRT. 562686 35BWDOGACA125 |DACooT20058 3 N
DAC35720034;
540763; 35BWDOA1C; DAC357234A;
B-36 35 | 72 |34 341058 C/D|VKBA8S7 548376A 35BWDO1CCA38  |DE0735CS131/5C;
DE0763CS46PX1
DAC35720045 35 | 72 | 45|45 |063| C 514000
DAC35720433;
GB12862;
633669 35 |72.04| 33| 33 |057| C |BAHB633669 R809a:
€200
DAC35720434 35 |72.04| 34| 34 [058| D IR-8524
DAC35740030 35 | 74 |30 30049 c 3507DTN
DAC35760054 35 | 76 |54 |54 095 E 35BWD10 510023
510071 35 | 77 |42 |42 |086| D
DAC35770042 |34.99|77.04| 42 | 42 [0.86| D |VKBA3763
DAC36640042 36 | 64 |42 |42 |048| C
BAHO0087; DAC36680033;
DAC3668W-CS36| 36 | 68 |33 |33 [048[ D [OHE200% 805172 36BWDO04 AN
DAC36720033/28| 36 | 72 | 33|28 |054| D B-34
DAC36720034 36 | 72 |34 34058 VKBA1372 36BWD01C
DAC36720534:
B-32 36 |72.05| 34| 34| 06| D |[Fw103 36BW1BCA60 DACaaragay

054

B
Double row angular contact ball bearing C
Two inner rings L
i e/l
B type
Boundary dimensions (mm) (weight Bearing No. cross reference
KWL No-. d b [ B[ C|kg | SKF FAG NSK Other
DAC36760029/27;
440190 36 | 76 |29.2| 27 [0.55| D [440190 311142/162 DEore
DAC3765 37 | 65 |52 |32|051| D
DAC37720033 37 | 72 | 33|33 |05 | E |BAH0051B
_ GB12807503;
DAC37720037 37 | 72 |37 |37 |06 | C |BAHOO12AMSS; R8066. TRRE0GE
DAC37720237;
527631; GB12258;
633028 37 |72.02| 37 | 37| 06 | C |BA2B633028CB| 5000 R8040:
C557
DAC37720437;
6335318; 562398A; GB12131503;
6335318 87 | 72.041 371 371 0.6 | C Hga110012 468683CA IR-8088;
C185
DAC37720047 37 | 72 |47 |47 ]o74] C
DAC37740045;
309946AC 37 | 74 |45 45|079| C |309946AC 541521C 37BWD01B PG
511020
DAC38640336/33| 38 |64.03| 36 | 33 [0.49| C
DAC38650050 | 38 | 65 | 50|50 05| C
DAC38650352/48| 38 |65.03| 52|48 | 0.5 | C
DAC38680037 | 38 | 68 |37 |37 |0.54| E 38BWD02
510055 38 | 70 | 37|37 [0.561 E |BAHB636193C |2FRTBKGH0037 |38BWD19 DAC38700037
DAC3870BW 38 | 70 | 38|38 |0.55| B [686908A 38BWD21CA53 D a8700038;
510062 37.99| 71 |39 39 |0.62] c |vkBA3929 38BWD22 DAC38710039
vecpse |DAC38710033/30;
510002 37.99| 71 |33|30|0.49| D |[Fw13s5 38BWD09ACA120"5A* | DACSB7100S
DAC38720434 | 38 |72041| 34 | 34 [0.54| D |VKBA1381 38BWD04CAG0 513025
DAC3872W-8CS81| 38 | 72 | 36 | 33 [0.535| D 38BWD12 DAC38720036/33
VKBA1191; DAC38720236/33;
DAC3872W-3CS72 | 37.9972.02| 36 | 33 [0.56| D |Y\551 38BWD12CA145 AL
FW102;
3 DAC38720040;
513024 38 |72.04| 40 | 40 [0.63| B |FwB12: 5750698 38BVV07-10G D o4z
VKBA1377
510015 38 | 73 |40 40]0.67| B |vkBA3245 38BWD26E DAC38730040
38BWDO1ACA121;
DAC38740036/33 | 37.99| 74 |36 | 33 [0.595| D 574795A 38BWD15A: 514002
DAC3874368W
FW114;
DAC3874W-6CS84 | 37.99|74.02| 36 | 33 [0.595| D |FwB114; 38BWDO1A1 DAC38740236/33
VKBA1341
510065 38 | 74 |3939|062| C
FW116- DAC38740050;
559192 38 | 74 | 50|50 [0.78| C ; 38BWDO6; DE0892;
FWB116
IR-8651
. |pAC38740450;
510008 38 |74.04| 50 [50.5{0.79| C 559912 38BWD06D1-ACA71; [DAC3E740450;
DAC38800036/33 | 37.97 | 80.02| 36 | 33 [0.79 38BWD18
055




Double row angular contact ball bearing C
Two inner rings L
o 0O
Boundary dimensions (mm) (weight Bearing No. cross reference
HML No. d D [B] c |k |5 SKF FAG NSK Other
. DAC39680037;
BAHB311315DD; (325810 B-38;
BA2B309692; . |39BWD03CAB9**; |IR-8052;
311315BD 39 | 88 | 37|37 048 B [Ba58309%02"  [540733BA; [JoB VD03 R oaaas
439622C; :
309791 a39022 RWS11;
C302
DAC39680537 | 39 [68.05|37 |37 |05 | B 510024
DAC39680837 | 39 |68.08| 37 | 37 |0.62| B 39BWD02J
DAC39720037;
DAC3972AW-4CS49:
. |542186A; |513113;
311396B 39 | 72 | 37|37 |os7| B |BA2B309639BA 554006, |3IBWDOIBCASY: g g3,
581169 GB12776:
IR-8085;
C491
DAC39740036/34 | 39 | 74 | 36| 34| 05| c [395418
BAHB636096A; |579557; IR-8603: 510052
DAC39740039 | 39 | 74 |39 39|0.66| c [BAHBE3S 219557 A |39BWDOS Boe 3, alo0s:
DAC39/41750037:
633815A 39/41| 75 | 37|37 |0.62| c |BAHB633815A |567447B GB12399S01:
IR-8530
510020 39 | 75 | 37|37|061| C DAC39750037
DAC40680042 | 40 | 68 |42|42] 05
DAC40720036/33 | 40 | 72 |36 |33 |05 510018 DACA4072CS34
DAC40720037;
566719; GB12320602;
311443B 40 | 72 | 37|37 |055| C |BAHB3114438 (535719 os09s.
C632; DAC4072W
DAC40720041.5/37| 40 | 72 [41.5| 37 |0.58| C
_ DAC40720637;
510004 40 |72.06| 37 | 37 [055| ¢ [EVBISO: GB12320S0;
GB12320S01
DAC40730055 40 | 73 | 55] 55| 009 BTH1024C
DAC40740036 40 | 74 | 36| 36 |0.62 40BWD15A 510061
DACA40740036/34 | 40 | 74 | 36| 34 |0.58| D 40BWD16 DAC4074BW
FW102; 801136; DAC407440;
510003 40 | 74 1401401066/ C paRe36060C  |559493  |*0BWDOED DAC40740040
40BWD12 40 | 74 | 42| 42|07 ]| E 40BWD12CA88  |DAC40740042: 510070
DEO08A27 40 |74.05| 40| 40 |0.67| C |Fw143 DAC40740540;
510013
_ DAC40750037:
510029 40 | 75 | 37| 37 |o062| c |PAHBE33966E; 559404 IR-8593;
FW177
C386
510032 40 | 76 | 33| 33|o06| E |[Fwise 40BWDOS DAC40760033
DAC40760033/28;
474743F 40 | 76 | 33| 28 |0.54| c |474743F 539166AB B-39;
IR-8110

B
Double row angular contact ball bearing c
Two inner rings
¢
A gelfm)
B type C type "y
Boundary dimensions (mm) |Weight Bearing No. cross reference
KML No. I
° d D B C | kg % SKF FAG NSK Other
DAC40760040/38| 40 | 76 |40 |38 | 07| C
DAC40760041/38;
513053 40 | 76 | 41| 38 |069| E |Fw124 559226 |40BWDO5BCAB0** DAC4076412ESCS42;
DE0891LLCS32PX2/5A
IR-8006;
DAC408000302 40 | 80 [30.2|30.2|0.66| D |440320H 523854 Y44FB10394S01;
C510
DAC40800031 40 | 80 | 31| 31|0.65| D |BA2B445469BA 12402
DAC40800034 40 | 80 |34 |34 |072| E
DAC40800036 40 | 80 |36 |36 |075| B
FW101;FWB101; DAC40800036/34;
DAC4080M1 40 | 80 |36 34074 D |gu\nan ity 40BWDO7A 513036
DAC408000381 40 | 80 |38.138.1| 0.8 | C |443096B 5346828
DAC40800045/44| 40 | 80 |45 | 44 [0.89| D
GB40250;
DAC408402538 40 |84.025| 38 | 38 [0.97| C IR.8638
DAC40840040 40 | 84 |40 |40 [1.02| C
DAC41680040/35| 41 68 |40 | 35[1.06| D 41KWD01G3CA54
DAC41.7*820043 | 41.7 | 82 |43 | 43 |0.84| C
DAC42720038 42 | 72 | 38|38 |0.54| C |BAHB1866047A
DAC42720038/35| 42 | 72 |38 | 35|0.52| C |VKBA3235 42KWD02AG3CS123
\F/\((Vé/(igil;yvsmg; DAC42750037;
X DAC4275BW2RS;
VKBAG13; '
VKBAT745; 513102;
BAHB311424A:  |533953; 513112;
633457 42 | 75 |37 |37 ]059] C | gascuin. T |521771; 513106;
A 545495 GB12010;
633196; R ;
: -8061;
909042; :
: IR-8509;
309245; c034
GRW231
DAC42750737 42 | 75.07|37 | 37| 061 C |633791
510057 42 76 | 33 | 33 | 0.59 42BWD12 DAC42760033
DAC42760038;
42BWDO0BCA98** ;
510009 42 76 | 38| 38| 061 D |Fw119 DE08A21CS50/L244
DAC42760038/33 | 42 76 | 38|33 |058| E
DAC42760038/35 | 42 76 | 38| 35065 D 42BWD06CS98 IR-8650;
510058 42 | 76 |39 |39 |062] c [EVI15 579102A DAC42760039
: FWB115
, DAC42760040/37;
ggg;ggék DAC4276402RSCS55;
’ 42BWD02; 513006;
309796 42 76 |40 | 37 [ 0.66| C |FwBa2: B4T059A |, N D0oDCABGSAA o1
NO41SET; ;
909042 IR-8112;
DE0895LA1LCS40PX1
055



7
ML HUB Units and Bearings

Double row angular contact ball bearing

Two inner rings

DAC42780038 42 | 78 |38 ]38 069] C 42BWD09 513054
DAC42780041/38 | 42 | 78 | 41[38 |0.75| C RW864
510072 42 | 78 | 4545
DAC428000302 | 42 | 80 [30.2[30.2] 0.78 633188
DAC42800036/34 | 42 | 80 | 36 | 34 | 0.81 42BWD13
BAH0004;
DAC42800037 42 | 80 |37 |37 |068| E SIS 42BWD08
BAH0028; FW166 510010;
DAC428045BW | 42 | 80 | 45|45 |086| B |o 0iCh 42BWD11CA56 210053
DAC42800042 42 | 80 [42]42]082] C 513180
DAC42800342;
, _ DAC4280B2RS;
309609AD 42 |8003| 42| 42 |081| c |BA2B3096O9AD: | 527243C; 513154;
305988 582226
IR-8515;
C540
DAC42820036;
513073;
446047CA; 561481 GB40574; GB12875;
446047 42 | 82 | 3636 |077]C E|VKBA91S; 288226 IR-8086;
BA2B446047EB IR-8642;
GB12163504;
C401
DAC42820037;
311413A 42 | 82 |37|37 [079| C |BAHB311413A | 565636 IR-8090;
513242,
GB12269
513151;
DAC42840036 42 | 84 | 36]36|0.77| C |BA2B444090AB | 564727 O eors0z
C521
DAC42840039;
440090 42 | 84 |39]39]0.93| F [440090 5433598 eB 0102802
C558
DAC43760043 43 | 76 | 43|43 |o74| E 43BWD12A 510060
DAC43770042/38| 43 | 77 | 42|38 [0.72] E
DAC43790041/38| 43 | 79 | 41|38 |0.77| E |VKBA3246 43BWD08 510030
DAC43790041 43 | 79 | 41|41 |068| E
DAC43790045 | 43 | 79 | 45|45 |084| E 43BWD13A
DAC43800038 | 43 | 80 | 38|38 |0.75| E 5799438
DAC43800050/45| 43 | 80 | 50 | 45 | 0.81| D |VKBA3215 43BWDO3CA133
510019 43 | 82 | 37|37 |o71| C DAC43820037
BAHB633814A; | 567519A; DAC43/45820037;
633814A 43/45| 82 | 37137 10.761 C IgaAH0011A(D) | 800941C IR-8506
43BWD06 43 | 82 | 45|45 |0.94| E |VKBA3308 43BWD06B DACH3620045;
510069 43 | 85 [37|37 |09 E

Double row angular contact ball bearing

Two inner rings

HUB Units and Bearings

DAC43/45850037 [43/45| 85 | 37| 37 [0.91| E IR-8658; 510060

DAC44825037 44 | 825 | 37|37 |073| E e a5

DAC44840042/40| 44 | 84 | 42|40 09| E 513052
DACA45800045;

564725 45 | 80 | 45| 45]|0.78| c [311363 564725AB  |45BWDO6 511019;
639

DAC45830045 45 | 83 | 45| 45| 06| C
DAC45840039;
DAC458439BW;
513130;

309797 45 | 84 | 39|39 08s5| c [BARBISTOIC, sa7103E aesorson
GB12398502;
IR-8529;
657

DAC45840041/39| 45 | 84 | 41| 39 |0.844| E 45BWDO03CA101

DACA45840042/40| 45 | 84 | 42| 40 |0.88] E 45BWDO7BCA78  |510050

DAC45840045 45 | 84 | 45| 45 |0.963] E 45BWD10 510063

DAC45840239 45 |84.02] 3930|085 C

DAC458500302 | 45 | 85 |30.230.2[0.63| C IR-8597

DAC4585004 1 45 | 85 | 41| 41|0.89| c |[BAHB633960 580191; c384

578413A

DACA45850048/43| 45 | 85 | 48| 43| 1 | C

DAC45880039 45 | 88 | 39|39 ]092] B

DAC45880239 45 |88.02] 39| 39 [0.92] B

510028 47 | 81 | 53| 53]095] E |[Fwis4 DAC47810053

DAC47850045 47 | 85 | 45| 45|095| E [559431A

DAC4882 48 | 82 [32]28]o0091|cE

DAC48860042/40| 48 | 86 | 42| 40 |0.96| E 48BWD02A

DAC48890044/42| 48 | 89 | 44| 42 [1.13| E 48BWDO1

510011 48 | 89 | 444413 C DAC48890044

DAC49840043 49 | 84 | 43| 43]084|c. E

DAC49840048 49 | 84 | 48| 48|0.89|c. E[BTHB329129DE |DU4984-7

DAC49840050 49 | 84 | 50|50 003]c. E 49BWD02-A-LA101

DAC49880046 49 | 88 | 4646|105 C 572506E  |49BWDO1B

DAC50900034 50 | 90 | 34]|34|082| c [633007C 528514 DE1021

DAC50900035 50 | 90 | 35| 35|084| C

DAC50.4820034/30 [50379 | 82 | 34 | 30 [0.58| C

DAC55900060 55 | 90 | 60| 60| 1.5| E [BTH1011

DAC559054/39 | 55 | 90 | 54| 39 |0.85| E

DAC559052/40 | 55 | 92 | 52| 40 [0.87| E

DAC56880040/35| 56 | 88 | 40| 35|0.75| E




Double row angular contact ball bearing

Outer ring with flange

Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

Type D

KML No.

Boundary Dimensions mm

Outer ring flange

[
o
1
Boundary dimensions (mm) Bearing No. Cross reference
KML No.

d D B (o] IRB SKF Other
446595 25 128 58 58 8574 BAFB446595E DAC251280058
447302 25 128 63.5 63.5 8578 BAFB447302AA DAC2512800635
TGB12096S21 25 133 43 43 8623 DAC251330043
TGB12095S25 25 133 43 43 8598 DAC251330043A
TGB12096S22 25 133 43 43 8602 DAC251330043B
DAC251340061 25 134 61 61 8584 DAC251340061
DAC281340061 28 134 61 61 8585 DAC281340061
TGB40189 30 120 52 52 8619 DAC301200052
TGB40189S01 30 120 52 52 8620 DAC301200052A
446912AC 30 120 68.5 68.5 8626 BAFB446912AC DAC3012000685
446912AC/WA1 30 120 68.5 68.5 8627 BAFB446912AC/W1 DAC3012000685A
633903 30 131 65 65 8608 BAFB633903 DAC301310065
633903B 30 131 65 65 8625 BAFB633903B DAC301310065A
633872A 30 131 65 65 8607 BAFB633872A DAC301310065B
446628BA 32 128 59 59 8605 BAFB446628BA DAC321280059
446451EB 32 129.1 58 58 8592 BAFB446451EB DAC3212910058
633938 35 128 65 65 8617 BAFB633938 DAC351280065
633755C 35 128 65 65 8612 BAFB633755C DAC351280065A
446935AB 35 136 84 84 8616 BAFB446935AB DAC351360084
446930AB 35 136 84 84 8615 BAFB446930AB DAC351360084A
BA2B243592D/VU028 35 136.3 75 75 8544 BA2B243592D/VU028 DAC3513630075
636044B 40 98 46 46 8596 BAFB636044B DAC40980046
TGB10872S02 39.98 108 32 17 IR-8048 |BA2B445533A DAC401080032/17
442377D 40 110 32.4 32.4 IR-8067 [442377D DAC4011000324
441696R 50 116 33.8 33.8 8113 441696R DAC5011600338
441696M 50 116 33.8 33.8 8519 441696M DAC5011600338A
TGB10894S03 50 116 36.4 36.4 IR-8068 DAC5011600364

054

Fle | 7] € |m G (R’éf_) H| 1| | Botsize | Bolthole g'ﬁggg

DACF92 20 78 20.6 |20.6 49 64 47 7.8 12.8 5 3-06.8 D
803199A 25 120 37 57 52 100 61 19 42.5 10 4-M12x1.5 A
96471776 25 125.5 37 56.5 52.5 100 19.8 |56 9 4-M12x1.5 A
DACF107 25 128 34 58.2 65 60 108 78 16 42.2 12.5 4-M12x1.25 A
DACF107ABS 25 128 34 58.2 65 60 108 88 16 42.2 12.5 4-M12x1.25 A
TGB40540S03 25 128 38 65 60 108 69 17 42 12 4-M12x1.25 A
DACF113 25 128 38 59 65 60 108 78 17 42 11 4-M12x1.25 A
DACF113ABS-1 25 128 38 72 65 60 108 84.5 17 42 11 4-M12x1.25 A
DACF113ABS-2 25 128 38 64.5 65 60 108 88 17 42 11 4-M12x1.25 A
TGB12095S49 25 132.5 43 73.4 60 54 100 75.5 19.5 161.8 12.5 4-M12x1.5 A
TKR8569 25 132.5 43 60 54 100 19.5 |54.5 11.5 4-M12x1.5 A
TKR8637 25 132.5 43 60 54 100 70.2 19.5 |54.5 1.5 4-M12x1.5 A
DACF1029 25 132.6 43 73.4 60 54.3 100 78 19.4 |54 12 4-M12x1.5 A
DACF108ABS 25 132.7 43 74.9 60 54.2 100 70.5 19.5 |53.9 11 4-M12x1.5 A
TGB12096S41 25 133 43 60 54.2 108/105 13 54 19.2 5-M12x1.5 A
TGB12095S43 25 133 43 60 54.2 100 18.6 |54 13 4-M12x1.5 A
TGB12095S42 25 133 43 60 54.2 100 66 18.6 |54 13 4-M12x1.5 A
TGB12095548 25 133 43 60 54.2 100 67.2 19.5 |54 13 4-M12x1.5 A
DACF1035B 25 133 43 73.4 60 54.25 | 108 71 19.4 |54 12.25 |[5-M12x1.5 5-014.22 A
DACF112ABS 25 133 43 73.5 60 54.3 100 79 19.5 |54 11 4-M12x1.5 A
DACF112ABS-1 25 133 43 775 60 54.3 100 79 19.5 |54 11 4-M12x1.5 A
DACF70ABS 25 133 43 775 60 54 108 67 19.5 |54 13 5-M14x1.5 A
DACF70ABS-1 25 133 43 74.5 60 54 108 1225 |19.5 |54 13 5-M14x1.5 A
TGB40266S01 25 133 46 60 54.2 100 19.5 |57.3 12.5 4-M12x1.5 A
HUB002 25 134 40 56 51 100/93.5 60 11.5 495 9 4-M12x1.5 A
512025(G1) 27 125 515 59 52 100 69 15 51.5 9 4-M12x1.25 A
27BWK02 27 134 40 60 58.9 49.9 100 62.3 15 45 10.2 5-d14

HUB048-35 27 134 40 59 50 100 62 15 45 11 4-M12x1.5 A
DACF67 27 134 40 60 59 50 100 64.3 15 45 10.5 4-914 A
DACF67-1 27 134 40 60 59 50 100 64.3 15 45 10.5 4-M12x1.25 4-®14 A
HUB184A/ABS 27 134 50 67.5 58.9 52 100 64.05 [15 52.5 9 4-M12x1.25 A
27BWK04D2 27 134 50 67.5 59 52 100 64 15 52.5 9 4-914 A
DACF37-1 27 134 50 67.5 59 52 100 64 15 52.5 11 4-M12x1.25 4-914 A
27BWK04 27 134 68 65.9 100 64 52.5 4-M12x1.25 A
43200-4M400 27 148 50 65.9 59 4-M12x1.25 A
DACF64ABS 27 148 50 68 66 59 114.3 64 15.5 |52.5 1.5 4-M12x1.25 4-®14 A
27BWKO03 27 148 55 66 52 114.3 60 15.6 |57.4 1.7 4-M12x1.25 A
DACF10 27 148 55 73 66 52 114.3 64 15.5 |57.5 11.5 4-914 A

055




Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

Type A Type C Type D
Boundary Dimensions mm Outer ring flange
KHE No- F |B | T E | M G (R'éf_) H|l o | J Bolt size Ef’a'g‘:tfr g‘:ggg
DACF10-1 27 148 55 |73 66 52 114.3 64 155 |57.5 | 11.5 |4-M12x1.25 4-014 A
DACF1082C 27 148 55 |73 66 52 114.3 64 155 |575 |9 4-912.5 A
QH933 27 148 55 |73 68 51 144.2 64.7 |155 [57.5 | 11.6 4-M12x1.5 B
801191AD 28 120 39 57 51.9 | 100 66.3 |20 [415 | 106 5-M14x1.5 A
BAF0058B 28 120 39 57 51.9 | 100 69.5 |105 [435 |20 4-M12x1.5 A
DACF115ABS 28 120 39 |635 |57 52 100 67.9 |20 415 |105 5-M14x1.5 A
DACF65ABS 28 120 39 |635 |57 51.85 | 100 695 (20 415 |105 4-M12x1.5 A
350161 28 120 40 555 100 66 495 |9 4-M12x1.25 A
DACF34 28 120 40 555 |60 47 100 66 6 495 |9 4-M12x1.25 4-912 A
28BWK16 28 120 40 555 |60 47 100 66 6 495 |9 4-M12x1.5 B
DACF34 28 120 40 555 |60 47 100 66 6 495 |9 4-912 A
DACF34-1ABS 28 120 40 555 |60 47 100 66 6 495 |9 4-M12x1.25 4-012 A
DACF34ABS 28 120 40 |555 |60 47 100 66 6 495 |9 4-912 A
DACF43 28 120 40 555 |60 47 100 66 6 495 |9 4-M12x1.5 4-012 A
801191(G1) 28 120 42 57 52 100 115 (445 |20 4-M12x1.75
350161/ABS 28 120 60 47 100 77 49.5 4-M12x1.5 A
BAF005B 28 120 57 52 100 69.5 43.5 4-M12x1.5
HUBO055 28 122 47 54 48 100 61 133 |54 8 4-M12x1.5 A
DACF1050BJH 28 1255 |48 56 49.7 | 100 673 |14 [56.5 |10 4-M12x1.5 A
DACF1050B-4 28 1255 |48 56 49.7 | 100 673 |14 [56.5 |10 4-M12x1.25 A
DACF47 28 1255 (48 |705 |56 49.6 | 100 65 14 [56.5 |10 4-M12x1.5 4-912 A
DACF60 28 1255 (48 |705 |56 49.6 | 100 61 14 [56.5 |10 4-M12x1.5 4-014 A
HUB254 28 130 40 54 48 100 63 16 [59.5 |10 4-M12x1.25 A
HUB254-20ABS 28 130 40 54 48 100 63 16 [59.5 |10 4-M12x1.25 A
H28009 28 130 54 48 100 63 49.5 4-M12x1.25
DACF1172 28 133.8 57 51.05 | 112 56.9 33.9 3-M12x1.5 A
DACF75ABS 28 134 31 47 57 51 112 57 125 (345 |10 3-M12x1.5 A
HUB065/15 28 134 40 60 51 114.3 63 18 {495 |9 4-M12x1.25 A
HUB008 28 134 40 56 51 100 625 |115 [495 |9 4-M12x1.5 A
HUB008-72 28 134 40 56 51 100 625 |115 [495 |9 4-M12x1.5 A
513050 28 134 40 56 51 100 625 (115 [495 |9 4-M12x1.5 A
DACF35-1ABS 28 134 40 |67.5 |60 51 114.3 66 18 495 |9 4-M12x1.25 4-012 A
DACF39 28 134 40 635 |60 51 114.3 64 20 |35 |9 4-M12x1.5 4-912 A
DACF41 28 134 40 |61 56 51 100 66 115 {495 |9 4-M12x1.5 4-912 A
HUB144 28 134 40 675 |60 51 114.3 66 18 {495 |9 4-M12x1.25 4-012 A
QH592 28 134 40 |60.8 |56 51 100 62.3 (113 [495 |8 4-M12x1.5 A
HUB294 28 134 45 56 51 100/93.5 | 625 [115 [545 |95 4-M12x1.25 A
28BWK19A 28 134 45 56 51 100/93.5 | 625 [115 [545 |95 4-M12x1.25 A

054

i O ®
&
8 O O
e ] o Type A Type D
Boundary Dimensions mm Outer ring flange
KHE Ho- Fle | 7| E |m G (R'gf_) H| 1| | Boitsize | Bolthole g'ﬁggg

HUB294-3 28 134 45 56 51 100/93.5 | 625 [11.5 [545 |95 4-M12x1.25 A
512023 28 135 40 57.3 |56.8 | 100 66.5 (104 [52.4 |8 5-M12x1.5

DACF53ABS 28 135 47 |707 |56.8 [51.35 | 100 68.5 |11.7 |59 8 5-M12x1.5 5-012 A
512167 28 135 48 568 [51.3 | 100 66.5 (103 [57.5 |8 5-M12x1.5 A
512021 28 135 57.3 [56.8 | 100 70.4 52.4 4-M12x1.5

DACF66ABS 28 1353 |40 628 [56.8 [51.35 | 100 68.5 [10.3 (495 |9 5-M12x1.5 5-012 A
512154 28 1354 |47 568 [|51.3 | 100 66 11.7 |59 7.8 5-M12x1.5 A
DACF1112A 28 139 38 |645 |67 58 114.3 70 14 [505 |9 4-014 A
DACF81 28 139 38 |645 |67 57.68 | 114.3 62.93 (14 [505 |9 4-M12x1.5 4-014 A
DACF81ABS 28 139 38 |645 |67 57.68 | 114.3 62.93 (14 [505 |9 4-M12x1.5 4-014 A
DACF81ABS-1 28 139 38 |645 |67 57.68 | 114.3 62.93 (14 [505 |9 4-M12x1.5 4-014 A
DACF82ABS 28 139 38 645 |67 57.68 | 114.3 63 14 [505 |9 4-M12x1.5 4-014 A
52710-22400/ABS 28 139 66.94 [57.7 | 114.3 63.2 50.48 4-M12

DACF103-1 28 140 38 |515 70 101.6 69.6 515 |9 4-M12x1.5 A
DACF103-2 28 140 38 |515 64.1 | 100 69.6 515 |9 4-M12x1.5 A
DACF83 28 140 38 |645 |54 47.7 | 100 67 14 [505 |10 4-M12x1.5 4-014 A
DACF83ABS 28 140 38 |645 |54 47.7 | 100 67 14 [50.5 |10 4-M12x1.5 4-014 A
DACF1050A 28 140 48 |705 |67 59 114.3 63 14 [505 |9 4-M12x1.5 4-014 A
52710-25000 28 140.1 54 47.8 | 100 66.9 50.5 4-M12x1.5

28BWK06 28 141 504 |71 56 48 99.8 68.5 |14 |57 9 4-M12x1.5 B
28BWK12 28 42 60.94 | 97 66 51.9 |77 4-910.5 c
DACF1076B 28 42 61 97 66.2 51.8 |7 4-9010.5 c
DACF11 28 42 |52 61 97 66.2 52 75 4-910.5 c
633622-1 30 116 37 58 47 98 16.8 (47 12 4-M12x1.25 A
633622-2 30 116 37 58 46.8 | 98 19.5 (45 1.2 4-M12x1.25 A
BAF0013AD 30 1165 |37 58 52 98 70 16.8 (44 10 4-M12x1.25 A
BAF0013E 30 1165 |37 58 52 98 70 16.8 (44 10 4-M12x1.5 A
BEO00700 30 1165 |37 58 51.8 | 98 712 |17 |448 | 11 4-M12x1.5 A
PL-6459 30 1165 |37 58 52 98 76 16.5 (46 1.2 4-M12x1.25 A
BAFB633807D 30 17 37 579 |51.8 |98 66.8 [16.92 [44.8 | 12 4-M12x1.25 A
DACF1083CR-1 30 17 37 579 |46.85 | 98 16.92 [44.8 | 11 4-M12x1.25 B
633622 30 117 37 579 |51.9 |98 16.92 [44.8 | 105 4-M12x1.25 A
XTGB40490 30 117 37 58 52 98 67 10 |45 16.8 4-M12x1.25 A
DACFO1 30 117 37 |61.3 |58 46.8 | 98 718 |17 [443 | 11 4-M12x1.25 A
DACF01-2 30 117 37 |61.3 |58 52 98 67 17 443 | 11 4-M12x1.25 A
DACF1083CR 30 17 37 613 (58 52 98 718 |16.92 [44.8 |12 4-M12x1.25 A
DACF40ABS 30 17 37 616 |58 52 98 66.5 |17 [446 | 11 4-M12x1.25 A
DACF42 30 117 37 |562 |59 516 |98 6 432 |10 4-M12x1.25 A

055




Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

| O
¢
X
o i o Type A Type B Type C Type D
Boundary Dimensions mm Outer ring flange
e e F B | T | E M| 6 |me|H|[1 ] J | Botsize | Bolthole | Eange
DACF73 30 17 37 |503 |59 46.8 | 98 705 |6 443 |10 4-M12x1.25 A
DACF74 30 17 37 [638 |58 475 | 98 723 [185 |453 | 11 4-M12x1.25 A
DACF76 30 17 37 [529 |59 51.6 |98 67.8 |6 432 |10 4-M12x1.25 A
DACF91 30 17 37 |16 |58 52 98 723 [165 |451 | 11 4-M12x1.25 A
800179D 30 120 37 57 52 100 69.5 [19 [447 | 113 5-M14x1.5 A
BAF-4104E 30 120 37 57 52 100 69.5 |19 [445 | 105 4-M14x1.5 A
BAF-0095B 30 120 37 56.9 |52 100 69.6 |19 [425 | 108 4-M12x1.5 A
8001798 30 120 37 57 52 100 69.5 [19  |447 | 11.3 |5-M12x1.5 A
BAF4104E 30 120 37 |635 |57 63.5 | 100 69.5 [19 [445 | 105 5-M14x1.5 A
DACF110 30 120 37 [635 [52 46 100 16 455 |10 4-M12x1.5 A
DACF36ABS 30 120 37 |35 |57 51.85 | 100 69.5 [19 [445 | 105 5-M14x1.5 A
DACF68 30 120 37 |e15 |57 51.85 | 100 69.5 |19 |41 10.5 4-M12x1.5 A
TGB40189S04 30 120 52 58 53 98 155 |54.5 | 14.5 5-M14x1.5 A
QH1001 30 120 52 [705 |59 52 98 736 [158 [545 | 14 4-M14x1.5 A
446912AE 30 120 52 46 100 69 52.5 4-M12x1.25
BAF0006D 30 122 46 56 47.92 | 100 67 14 |56 10 4-M12x1.5 A
DACF72ABS 30 122 46 |70 57 48 100 67 14 |56 10 4-M12x1.5 4-012 A
HUB053 30 122 47 |69.3 |54 48 100 65 133 |56 8 4-M12x1.5 B
DACF1041 30 122 47 54 48 100 65 133 [56.2 |8 4-M12x1.5 A
DACF1041JR 30 122 47 54 48 100 65 13.3 [562 |8 4-M12x1.25 A
513030 30 122 47 54 48 100 65 133 [562 |8 4-M12x1.5 A
DACF87ABS 30 122 47 |695 |54 48 100 649 (135 |56 9 4-M12x1.5 4012 A
DACF88 30 122 47 695 |54 48 100 68.43 (135 |56 8 4-M12x1.5 4-012 A
HUB053/ABS 30 122 54 48 100 65 56 4-M12x1.5 B
OK202 30 122 56 47.92 | 100 67 56 4-M12x1.5
OK202ABS 30 122 56 47.92 | 100 67 56 5-M12x1.5
512009A 30 122 63 99 72 51.8 4-010.5
3502950 30 123 50 56 50 100 65 14 [565 |10 4-M12x1.5 A
DACF96 30 123 50 (705 |56 50 100 76 14 [565 |10 4-M12x1.5 A
DACF10854 30 123.2 56 49.7 | 100 65 56.5 4-M12x1.5 A
DACF1085-4/ABS 30 123.2 56 49.7 | 100 65 56.5 4-M12x1.5 A
DACF21 30 125 50 [705 |56 50 100 689 [14 [565 |10 4-M12x1.5 4014 A
DACF1087A 30 1255 |50 [705 |56 50 100 689 [14 |65 |10 4-M12x1.5 4014 A
30BWD11 30 125.5 56 49.7 | 100 66.5 56.5 4-M12x1.25
DACF1049A 30 126 59 |77 56 50.5 | 100 655 [145 625 |10 5-M12x1.25 5-014 A
DACF56ABS 30 130 43 |65 65 59 108 77 125 [525 |13 4-M14x1.5 A
633872 30 1307 |43 65 59 108 126 |504 |13 4-M14x1.5 A
DACF1038A 30 131 43 |71.3 |65 59 108 76 19 |51 13.5 4-M12x1.5 A

054

I ®
O
e : o Type A Type D
Boundary Dimensions mm Outer ring flange
KHIE Ho- F B | T | E |Mm G (Rléf_) H| 1| J | Botsize | Bolthole g'ﬁggg
TGB12933 30 133 46 60 54.2 | 108/105 195 |54.8 | 125 5-M14x1.5 A
TGB12933S01ABS 30 133 46 60 54.2 | 108/105 731  [195 [54.8 | 125 5-M14x1.5 A
HUB283 30 133.92 64.07 [58.05 | 114.3 80.8 55.3 5-M12x1.5
JD03 30 134 41 56 51 104/100 66 115 [545 |8 4-M12x1.5 A
77431795 30 1355 |43 65 59 108 78 19 |52 135 4-M12x1.75
BAF0037D 30 135.7 65 596 | 108 78 52.1 5-M12x1.75
DACF1015 30 136 40 |66 56 51 100 68.5 (115 [545 |8 4-M12x1.5 4-012.1 A
HUB005-39 30 136 41 56 51 100 66 115 |547 |8 4-M12x1.5 A
HUB005-39ABS 30 136 41 56 51 100 66 115 [547 |8 4-M12x1.25 A
BAF0103D 30 136 41 57 52 112 72 19 475 |11 5-M14x1.5 A
DACF110ZA 30 136 41 66.5 |56 51 100 68.5 (115 [545 |8 4-012.1 A
DACF111ABS 30 136 41 66.5 |56 51 100 97 115 |55 8 4-M12x1.5 A
DACF18ABS 30 136 41 66.5 |56 51 100 68.5 [11.5 |55 8 4-M12x1.5 4-012 A
513102 30 136 46.5 |66 56 509 |61 66 115 |545 |8 4-M12x1.5 A
BAF0086 30 136.3 57 49.7 | 100 62 4-M12x1.5
DAC306845 30 137 45 66 51.9 | 1143 92 17.3 |66 12 5-M12x1.25
HUB227-25 30 138.8 56 51 100 66 55.9 4-M12x1.5
HUB227ABS 30 138.8 56 51 100 66 55.9 4-M12x1.5 A
HUB082-6 30 138.8 64.06 |58 114.3 66.3 59.2 4-M12x1.5
U-100 30 139 55 56.5 |48 114.3 68 20 622 |11 4-M12x1.5 A
DACF69 30 139 56 |67.5 |61 30 100 66 115 [565 |9 4-M12x1.5 4-12 A
DACF105ABS 30 1395 |59 [68.35 |64.1 |58 114.3 69.5 [125 [55.85 | 12 5-M12x1.5 A
DACF106 30 140 50 |72 67 58.75 | 114.3 69.8 [125 [565 | 10 4-M12x1.5 A
DACF1086 30 140 50 |72 67 59 114.3 68.9 (155 (565 |9 4-M12x1.5 4-014 A
DACF20 30 140 50 |705 |67 59 114.3 68.9 [14 [565 |9 4-M12x1.5 4-014 A
DACF1085/ABS 30 140 67 59 114.3 66.5 56.5 4-M12x1.5 A
DACF1085-5 30 140 67 59 114.3 66.5 56.5 5-M12x1.5 A
DACF1085-5/ABS 30 140 67 59 114.3 66.5 56.5 5-M12x1.5 A
DACF71ABS 30 142 55 |82 56.4 |48 114.3 68 14 |62 125 |5-M12x1.5 5-912 A
BAF4048/ABS 30 142 56.6  |47.95 | 114.3 68.45 62.6 5-M12x1.5
HUB188-6 30 148 48 659 |59 114.3 67 17.7 |49 105 |5-M12x1.25
HUB188-6ABS 30 148 48 659 |59 114.3 67 17.7 |49 105 |5-M12x1.5 A
HUB042-32 30 148 48 659 [52.1 | 114.3 72 155 (49 9.1 4-M12x1.25
30BWKO06 30 148 48 659 |52 114.3 72 155 (49 12 5-M12x1.5
HUB042 30 148 48 59 52 100 72 155 (49 10 4-M12x12.5 A
DACF49 30 148 48 |66.7 |66 59 114.3 68 17.7 489 |95 5-M12x1.25 5-912 A
DACF49-2ABS 30 148 48 |645 |66 52 114.3 97 15.5 |49 105 |4-M12x1.25 A
DACF49ABS 30 148 48  |66.7 |66 59 114.3 68 17.7 489 |95 5-M12x1.25 5-012 A
055




Passenger Car Wheel Bearings
Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

H H

Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

I o I o
O O
e ] o Type A Type C Type D oo ] o Type D
Boundary Dimensions mm Outer ring flange Boundary Dimensions mm Outer ring flange
KAk No- d | F B | T ]| E|M G |mety| H| 1| 9 | Botsize | Bothole | Eenge Kk o d | F |l | T ]| E |M G |mery| H| 1| 9 | Bottsize | Blthole | Eanoe
DACF58 30 148 48  |645 (59 52 100 72 15.5 |49 12 4-M12x1.25 4-09 A 444450E 32 128 34 |58 64.94 |60 107.74 81 16 |42 124 |4-M12x1.25 A
DACF62 30 148 48 |645 |66 52 114.3 728 |155 |49 12 4-M12x1.25 4-014 A BAFB44450 32 128 34 [582 |65 60 108 80 16 [422 | 125 4-M12x1.25 A
DACF62ABS 30 148 48 |645 |66 52 114.3 728 |155 |49 12 4-M12x1.25 4-014 A IR8605 32 128 38 65 60 108 76 17 |42 12.5 5-M12x1.25 A
DACF93ABS 30 148 48 |66.7 |66 59 114.3 67 17.7 |49 105 |5-M12x1.25 5-012 A DACF54ABS 32 128 38 |59 65 60 108 78 17 |42 11 5-M12x1.25 A
HUB188-4/44 30 148 659  [59 114.3 96.3 49 5-M12x1.25 B IR8688 32 129 38 65 60 108 17 (436 |12 4-M12x1.25 A
HUB188-6/46 30 148 659  [59 114.3 95.75 49 5-M12x1.25 B TGB40175S05 32 129 38 65 60 108 17 [436 |12 4-M12x1.5 A
HUB145-7 30 148 67.95 |59 114.3 66.25 57.5 4-M12x1.25 DACF44 32 129 38 [593 |65 60 108 762 |17 423 |12 4-M12x1.25 A
HUB083-15 30 151.5 |41 64 58 114.3 65.96 |11.55 [55.27 | 9.3 4-M12x1.5 B TGB40175S08 32 129 65 60.03 | 107.74 68.3 42.2 4-M12x1.25
HUB083-15ABS 30 151.5 |41 64 58 114.3 65.96 |11.55 [55.27 | 9.3 4-M12x1.5 B 803755AA 32 131 46 68 51.8 | 112 74 205 |48.5 | 11 5-M14x1.5 A
HUB199 30 1515 |59 834  [64.07 |58 114.3 66 124 |71 8 4-M12x1.5 B 1705986118 32 136.4 571 |51.85 | 112 76.2 48.5 5-M14x1.5
HUB283-5 30 1515 |59 64 114.3 65.96 (9.3 [55.27 | 12.75 [4-M12x1.5 A 52710-2D100 32 139 42 67 576 | 114.3 74 14 [505 |9 4-M12x1.5 A
512177 30 1515 |59 64 58 114.3 6596 (9.3 [55.27 | 12.75 |4-M12x1.5 52710-2D100/ABS 32 139 67 57.7 | 1143 74 50.5 4-M12x1.5
H24022 30 151.5 64.07 |58 114.3 65.98 55.83 5-M12x1.5 512029 32 1399 (38 714 |66 114.3 76 16.6 [41.3 |10 5-M12x1.5 A
HUB181 30 151.5 64.07 |58 114.3 65.96 55.27 4-M12x1.5 HUB066-52 33 1395 |51 67 60 1145 70.95 |14.5 |59 6 4-M12x1.5 A
HUB156-37 30 151.7 58.05 [57.8 | 104 65.92 55.7 4-M12x1.5 HUB066-53ABS 33 139.5 |51 67 60 1145 70.95 |14.5 |59 6 4-M12x1.5 A
HUB156-39 30 151.7 58.05 [57.8 | 104 65.92 55.7 5-M12x1.5 HUB0B6ABS 33 139.5 66.9 |60 1145 89.95 59 5-M12x1.5 A
HUB181-5 30 151.7 64.07 [58.1 | 114.3 65.96 55.27 5-M12x1.5 DACF1034C 33 140 47 |712 |67 59 114.3 77 14 |647 |9 5-M12x1.5 5-014 A
512179 30 151.8 |59 64 58 114.3 65.96 125 [554 |10 5-M12x1.5 A BAF4047D 33 140 51 67 60 114.3 14.5 |59 10 4-M12x1.5 A
DACF1065A 30 152 41 67.5 |64 58 114.3 674 |115 [5535 |9 4-M12x1.5 4-012.1 B BAF4048C 33 140 51 67 60 114.35 73 14.5 (59 11 4-M12x1.5 A
DACF22ABS-1 30 152 41 67.5 |64 58 114.3 70 115 |56 9.5 4-M12x1.5 4-012 B BAF4048 33 140 67 60.1 | 114.3 73 59 4-M8x1.25
DACF22ABS-2 30 152 41 67.5 |64 58 114.3 77 115 |56 9.5 4-M12x1.5 4-012 B DACF1034C-3 33 1401 |47 67 58.67 | 114.35 7112 |13.92 [64.74 | 9.2 4-M12x1.5
DACF22-1ABS 30 152 59 685 |64 58 114.3 67 125 |56 9.5 4-M12x1.5 4-012 B DACF1081C 34 139 42 |645 |67 58 114.3 74 14 [505 |9 4-M12x1.5 4-014 A
HUB181-22 30 152 59 (685 |64 58 118 66 125 |56 9.5 4-M12x1.5 B DACF1036A 34 1395 |42 |70 64 58 114.3 75 15 |55 9 4-M12x1.5 4-012.1 A
DACF1022B 30 42 63 99 72 588 | 7.5 4-910.5 c HUC0540 34 140 37 61 52 100 18 (495 |12 4-M12x1.5 A
DACF1072B-1 30 42 63 99 68.2 51.8 |75 4-910.5 c DACF100-B 34 140 37  |505 70 100 69.6 505 |9 4-M12x1.5 A
DACF1097D 30 42 63 99 73.6 51.8 | 7.5 4-910.5 c DACF114 34 140 37 |675 |61 52 100 18 |44 12 4-M12x1.5 A
DACF48 30 42 |52 63 99 72 52 75 4-9010.5 c HUB207 34 140 53 66 56 114.3 73 175 |59 105 |5-M12x1.5 A
DACF1091A 30 50 |54 66 58.3 | 90 68 10 |44 10 4-M10x1.25 C HUB150 34 146.2 64.1 581 | 114.3 84.1 61.8 5-M12x1.5
QH576 31 1199 |40 |61 57 50.8 | 100 72 19 |42 115  [4-M12x1.5 A HUB249 34 1465 |58 64 58 114.3 729 |13 |62 105 [4-M12x1.5 A
QH576ABS 31 119.9 57 50.8 | 100 82.3 42 4-M12x1.5 A 513115 345 [139 51.5 705 |58 114.3 80 18 [47.7 |10 5-1/2-20 UNF A
QH534 31 119.9 57 50.8 | 100 72 42 4-M12x1.5 513092 345 [139 52 |66 63 58 108 80 18 |48 10 5-M12x1.5 A
DACF1005C 31 120 40 |61 57 50.5 | 100 738 |19 |42 12 4-M12x1.5 A DACF1031D 345 [139 52 |655 [63.26 |58 108 86 17.89 |47.61 | 10 5-M12x1.5 5-013.1 A
DACF55 31 120 41 61 57 50.5 | 100 72 19 |42 12.5 4-M12x1.5 A BE00733 35 116 37 579 |52 98 17 482 |12 4-M12x1.25 A
DACF310203 31 47 659 |59 100 73 14 |44 10 4-M10x1.25 C DACF109 35 116 37 |65 58 52 98 17 465 |12 4-M12x1.25 A
512107 31.76 |139 52 63.2 |58 108 74 16.5 [555 | 11 5-M12x1.5 A DACF79ABS 35 1165 |37 |65 58 52 98 73 16.5 (46 115 5-M12x1.25 A
512149 31.76 [139 52 632 [58 108 74 165 [555 | 11 5-M12x1.5 A BAF0026 35 1358 |45 65 53.3 | 108 75 193 (491 |12 5-M12x1.5 A
HUB059 31.76 | 139 52 |72 63 57.8 | 108 74 18 |55 10 5-M12x1.5 A 512024 35 136 42 632 564 | 108 74 18 |52 105 [4-M12x1.5 A
512106 31.77 [139 52 63.2 |58 108 748 |13.4 [57.5 | 104 [5-M12x1.5 A DACF78 35 136 42 |725 [63.27 |[56.37 | 108 77 205 [516 |10 4-M12x1.5 4-014 A
054 055



Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

I O ©®) ®
2 O Q O
o ’ o Type A Type C Type D
Boundary Dimensions mm Outer ring flange
KHE Ho- F |B | T E | M G (R'gf_) Hl 1| Bolt size Egtnf‘egfr g'ﬁggg

DACF78ABS 35 136 42 |725 |63.27 [56.37 | 108 74 205 [51.6 | 10 4-M12x1.5 4-d14 A
DACF85ABS 35 136 45 |68 65 53.3 | 108 75 19.3 [48.7 |12 5-M12x1.5 5-®13.3 A
QH860 35 136 63.3 [56.2 | 108 74 51.5 4-M12x1.5

QH862 35 136 633 [56.2 | 108 83 51.5 4-M12x1.5

QH603 35 136.4 65 57 109.9 75.4 49 3-M12x1.5 A
DACF77 35 137 42 |49 62 110 75 49 12 4-012 A
DACF1023D 35 137 45 65 533 | 108 75 20.5 |49 12 4-M12x1.5 A
246744A 35 137 45 1695 |68 20.5 12 M12x1.5 A
246744AAWA 35 137 45 |69.5 |68 20.5 12 M12x1.5 A
246744AAWB 35 137 45 |69.5 |68 20.5 12 M12x1.5 A
DACF05 35 137 45 |69.5 |65 53.3 | 108 81 205 |49 12 5-M12x1.5 5-013.3 A
DACF05ABS 35 137 45 1695 |65 53.3 | 108 81 20.5 (49 12 5-M12x1.5 5-013.3 A
DACF10181 35 137 45 |74 65 57 110 816 [25 |49 12 5-M12x1.5 A
52710-3A101 35 148.1 66.95 [58.75 | 114.3 78 56.2 4-M12x1.5

33BWK02 36 139.5 67 60 1145 78 61 5-M12x1.5

DACF1063A 36 140 50 |71 67 59 114.3 79 14.5 |57 11 5-M12x1.5 5-014 A
36BWKO02 36 140 62 67 60 114 78 18.7 |59 10 4-M12x1.5 A
DACF86 36 140 62 777 |67 60 114.3 78 18.7 |61 10 5-M12x1.5 5-014 A
DACF89ABS 36 140 62 (797 |67 60 114.3 78 18.7 |61 10 5-M12x1.5 5-012 A
33BWK02/ABS 36 140 67 60 114 90 61 5-M12x1.5

BAF0135A 37 136 52 63.3 [56.1 | 108 204 [65.1 | 105 A
578413 37 1388 |45 725 |66 120 816 |19 |45 11.3 5-M12x1.5 D
DACF1033K1 37 139 45 |64 725 |66 120 80 19 45 11 5-M12x1.5 A
DACF1033K2 37 139 45 725 1659 | 120 79 19 |45 11 5-M12x1.5 A
576681EA 37 139 45 725 |66 120/104 79 19.3 |45 11.6 5-M12x1.5 A
DACF06-1ABS-A-K 37 139 45 |64 725 |66 120 80 19 |45 11 5-M12x1.5 A
DACF63ABS 37 139 45 |64 725 |66 120 80 19 45 11 5-M12x1.5 A
446420CD 37 139 45 |64 725 |66 83 19 [449 |11 5-M12x1.5 A
4473188 37 139 45 |64 79 19 11 5-M12x1.5 A
DACF1033K 37 139 45 |64 725 |66 120 79 19 |45 11 5-M12x1.5 A
DACF57ABS 37 139 45 |64 725 |66 120 816 [19 |45 11 5-M12x1.5 A
561935AE 37 139 725 |66 120 91 44.5 5-M12x1.5

DAF20023 37 151 52 705 |64 114.3 78 21 |52 10 5-1/2-20UNF A
513014 37 151.3 |52 |73 705 |64 114.3 78 21 |52 10 4-M12x1.5 A
DACF80ABS 37 151.3 |52 [759 [70.46 |64 114.3 816 (21 [549 |13 5-1/2-20UNF | 5-014.5 A
DACF80ABS-1 37 151.3 |52 |759 [70.46 |64 114.3 94 21 [549 |13 5-1/2-20UNF | 5-014.5 A
513202 37 151.8 |52 71.6 |64 114.3 78 21 |545 |13 5-1/2-20UNF A
DACF1074C 38 1465 |52 |77 70 64 114.3 74 15 |62 9 5-M12x1.5 5-012.1 A

| O ©®)
e O Q
o } o Type A Type C Type D
Boundary Dimensions mm Outer ring flange
K e o | F B | T |E M| 6 |[gmey|H| 1| s | Botsize | Bothoe | Honge
38BWKO1B 38 87.35 |72 105.96 76 54.9 4-010.5
HUB147 39 135 75 749 | 120 78.8 54.3 3-M12x1.25
DACF97 40 116 56 (56 93 104 90 17 |39 12 8-06.5
DACF32 40 43 |43 84 106 84 16.4 [26.5 |10 4-M12x1.25 C
41BWD03 41 169.4 108.25 [74.1 | 139.7 84 37 5-M12x1.25
XBGBA40600S02 42 37 83.4 107.9 15 |22 10 4-010.4 C
513089 43 101.8 |44  [527  [79.9 [74.8 | 102 83 4-M12x1.25 B
513098 43 1204 |44 |44 83 102 834 (165 [27.5 | 145 [4-M10x1.25 C
43BWKHO1 43 130.8 |56 |56 83.82 109.8 826 111 449 |15 4-M12x1.25 o}
HUB189 43 135 806 [80.5 | 120 79.5 55 3-M12x1.25
HUB081-44 43 44 |44 82.8 102 86 16.5 275 |15 4-M10x1.25 C
HUB189-2(R) 43 46.5 805 (722 | 120 835 (11 |55 14 3-M12x1.25
HUB030-22 43 56 83.8 110 81.1 [11 |45 15 4-M12x1.25 C
DACF59ABS 45 124 41 |4 90 106 88 3.8 [37.2 | 105 4-M10x1.0
580494 45 4 90 106 88 38 [372 |105 4-M10x1.0 o}
580494C 45 41 90 106 88 38 [372 | 105 M10x10 C
HUB132 45 49 83.8 105 4-M10x1.25 C
51KWHO1 51 55 86.8 112 195 (355 |16 4-M12x1.25 C
54KWH02 54 120 59 90 120 90 252 (368 |15 4-M12x1.25 C
28BWK08G 28 1255 |48 56 100 67.3 (14 [565 |10 4-M12x1.5 A
52710-29%00x 28 139 38 66.9  [49.7 | 114.3 66.95 (14 [505 |9 4-M12x1.5 A
52710-29450 28 139 38 669 [57.7 | 114.3 66.95 (14 [505 |9 4-M12x1.5 A
52710-29671 28 139 38 669 [57.7 | 114.3 66.95 (14 [505 |9 4-M12x1.5 A
52710-22400 28 139 38 669 [57.7 | 114.3 70 14 [505 |9 4-M12x1.5 A
52710-22500 28 139 38 669 [57.7 | 1143 70 14 [505 |9 4-M12x1.5 A
52710-29400 28 139 38 669 [57.7 | 1143 70 14 [505 |9 4-M12x1.5 A
512165 28 139 38 669 [57.7 | 114.3 70 14 [505 |9 4-M12x1.5 A
57210-25000 28 140 38 54 57.7 | 100 70 14 [50.5 |10 4-M12x1.5 A
57210-25100 28 140 38 54 47.7 | 100 70 14 [50.5 |10 4-M12x1.5 A
DACF3015268 30 152 64 47.7 | 64 66 12.5 |56 55 4-M12x1.5 B
52710-2D000 32 139 45 |685 |67 58 114.3 74 14 [505 |9 4-M12x1.5 A
52710-2D115 32 139 45 67 57.6 | 114.3 74 14 [505 |9 4-M12x1.5 A
BAF0047 4345 | 825 825 [57.6 | 107 82.5 40.25 4-M12x1.5
BAF0126 45/47 39 89 77 113.85 17 252 | 135 4-M12x1.5 C
DACF38 125.7 |40 56.85 100 16.8 |58 9 5-M12x1.5 5-012 A
803640CD 126.5 748 |57 49.8 | 100 72 19.3 10.2 5-M14x1.5 A
DACF90 126.5 57 51.5 | 100 19 o4 10 5-M14x1.5 A
DACF90ABS 126.5 825 |57 52 100 19 (635 |10 5-M14x1.5 A

055




)
ML HUB Units and Wheel Bearings

Q,

Passenger Car Wheel Bearings

Second generation wheel hub bearing units

ball bearing type for driving and non-driving wheel

Il
‘ @ 0
@ O
B8
F G E M T d K
Type C

805546C 131.3 632 |56 108 78 20.8 [61.3 |10 5-M12x1.5
43200-9F510 148 659 [58.8 | 114.3 64 57 4-M12x1.25
43200-9F510/ABS 148 659 [58.8 | 114.3 64 57 4-M12x1.25
805201D 149.5 65 55.7 | 120 85 22.8 16 5-M14x1.5
DACF99ABS-1 149.5 102.65 |65 555 | 120 2275 (799 | 165 5-M14x1.5

—@

HUB Units and Wheel Bearings

Passenger Car Wheel Bearings

Third generation wheel hub bearing units

C

I

@

a DAC bearing is press fit into two flanges

KML No.

633293 116.8 |98 58.9 |57.9 52 85 4-M12x1.25 4-010x1.25 Y4 |
BAR0112C 119 100 |[56.5 | 60 85 39 104 33 |4-M12x1.5 3-M12x1.5 Z Il
8V59-2C299A 122 100 |55 54 685 | 91 4-M12x1.5  [4-911.3 Zz
513011 125 100 |57.77| 57 71 42.18 | 102 33 |5-M12x1.5 3-012.96 Il
513004 125 100 |[58.33| 57 785 | 4318 | 98 33 |5-M12x1.5 3-011 I
513017 125 |100 |58.33| 57 735 | 4443 | 98 33 |5-M12x1.5 3-012.96 Z I
513011K 1254 {100 |57.73| 57.02|70.99 | 41.96 | 102 33 5M12x15 [3-913 Z Il
513075 126|100 |60.7 | 56.7 |87 373 | 112 26 5-M12x1.5  [4-M10x1.5 Z |
513122 126|100 |56.8 | 60.8 |87 375 | 112 26 5-M12x1.5 [4-M10x1.5 Z |
512155 126.3 (100 |57.3 | 56.85| 86 48 107.9 5-M12x1.5  [5M12x1.5 [4-M12x1.5 Z ViI
513138 127.7 (100 |[56.8 | 60.7 |88 374 | 110 N/A  [5-M12x1.5 N/A Zz Il




'Flange "Bolt 'B.olt 'W.heel 'Br.ake 'Flange "Hub 'No. of ‘Bolt circle 'Bolt size ' : Bearing| 'Flange
KML No. Dia. cgic;lfa (Q?J::'rty) g‘::t g::t off set | pilot Dia. | spline Dia: Dia: soit h:)le Siee Config-| shape
A B [o] D E F G J H uration K
513117 128 (100 |60 56 86.18 | 58 110 26 |5-M12x1.5 3-M12x1.75 Il
52123 130.5 (108 |68 65 81 37 122 26 |4-M14x1.5 4-M14x1.5 |
BARB243823AD 130.5 (108 |68 65 81 37 103 26 |4-M14x1.5 4-M12x1.5 4 Vil
801344A 131 (112 |68 57 70.15 | 95 5-M14x1.5 5-910.8 Z Vil
BAR0051 1335 (112 |58 57 67.9 538 | 86 24 |3-M12x1.5 4-M10x1.5 Z |
3DACF026-1 135 |[100 |[54.95|53.92|73.9 54.5 4-M10x1.25 [4-M12x1.5 4 VI
3DACF026-1CSABS|135 |100 |54.95|53.92|73.9 54.5 4-M10x1.25 [4-M12x1.5 4 Vil
3DACF026-2 135 |[100 [54.95| 53.92|73.9 54.5 4-M12x1.5  [4-M12x1.25 Z Vil
42450-02090 135 [100 |54.95| 53.92 | 73.9 545 | 93 4-M10x1.25 [4-M12x1.5 Z Vil
HUB14ABS 135 (100 |55 54 73.8 545 | 93 5-M12x1.5 |4-M10x1.25 Z Vil
5745668 1355 (108 |68 65 83.5 43 103 26 |4-M12x1.75 4-M12x1.75 Z 1}
574566C 1355 (108 |68 65 835 |43 103 26 |5-M12x1.75 4-M12x1.75 Z 1}
52113 1355 (108 |68 65 83.5 43 124 26  |[4-M12x1.75 4-M12x1.75 |
52114 1355 (108 |68 65 83.5 43 124 26 |5-M12x1.75 4-M12x1.75 |
274298 1356 (108 |67.9 |65 87.5 59 112 36 |5-M14x1.5 4-M12x1.75 4 \Y
9173872 1356 (108 |67.9 |65 87.5 59 112 5-M14x1.5 4-M12x1.75 Z Vv
574566CE 135.7 (108 |68 65 87.5 43 112 36 |5-M14x1.5 4-M12x1.75 4 \Y
BAR0045B 136 [100 |57 56.5 |60 78 84 4-M12x1.5 4-M10x1.25 4 Vil
BARO0108D 136 (100 |56.5 |57 60 78 84 5-M12x1.5 4-M10x1.25 4 Vil
3M51-2C299-R 136 [108 [632 [ 635 [73 634 | 98 5-M12x1.5 [4-M10x1.5 Z V
BAR0078 136 [108 [63.5 | 63.3 |83 63 100x90 5-M12x1.5 |4-910.8 Z
HUB230A 136 [114.3 |68 66 80 405 | 103 25 4-M12x1.25 [3-M12x1.25 Z Il
HUB285A 136 [114.3 |68 66 90 405 | 120 29 5-M12x1.25 |4-M12x1.25 Z Vil
VKBA3673 137 [100 |56 64 74 565 | 93 4-M12x1.5 4-M10x1.5 4 Vil
BAR0053 137 (110 |65 70 85 38 104 33 |5-M12x1.5 3-M12x1.5 Z Il
805150EC 137 (110 |65 70 90 39 114.3 30 |5-M12x1.5 3-M12x1.75 4 Il
BAR0088 137 (112 |65 57 85 48 36 |5-M14x1.5 4-M12x1.5 4 Vil
VKBA3674 1372 (100 |56 64 80.9 44 102 26 |4-M12x1.5 4-M10x1.5 4 Vil
512001 138 (100 |57.49|57 61 65.14 | N/A N/A  |5-M12x1.5 4-011.00 4 Wl
513012 138 [100 |57.49|57 61 65.14 | 88.81 N/A  |5-M12x1.5 4-010.73 VI
WA135017 138 (1143 |67 69 66 59 90 5-M12x1.5 |4-M10x1.5 4 Vil
W135017ABS 138 (1143 |67 69 66 59 90 5-M12x1.5 |4-M10x1.5 Z Vil
520100 138 [107.95/70.92| 63.2 5-M12x1.5
513100 139 [108 |70.92| 632 |[825 61.98 | 112 26 |5-M12x1.5 3-012 4 Il
513074 139 (1143|728 | 712 [86.8 377 | 112 26 5-M12x1.5 |4-M10x1.5 4 |
DACF1091-5ABS  [139 |114.3 |90 67 66 59 90 5-M12x1.5 |4-M10x1.25 Y Vil
5124B256V 139 [114.3 |60 56.5 37 114 28 5-M12x1.5 |3-M12x1.5 Z Il
801106 139 (120 |79 74 90 51.1 106 5-M12x1.5 4-M12x1.5 Z Vil
96328247 139.2 (114.3 |60 56.5 |66 63 86 4-M12x1.5  [4-M10x1.25 4
513123 139.3 [114.3 |60.7 | - 87 375 | 112 - 5-M12x1.5 Z |
96292254 139.5 (114.3 |60 56.5 [91.2 37 114 4-M12x1.5  [3-M12x1.5 Z Il
512156 140 (1143|718 | 71.37 |86 48 107.9 5-M12x1.5 5-M12x1.5 |4-M12x1.5 Z VI
512018 140 (100 |55 54 747 | 97 4-M12x1.5  |4-9105 Y
BAR0042AB 140 (110 |65.5 |65 60 78 84 5-M12x1.5 4-M10x1.25 Z Wil
BAR0066 140 (110 |65.5 |65 60 78 84 5-M12x1.5 4-M10x1.25 Z VIl
BAR0094D 140 (110 |65.5 |65 60 78 84 5-M12x1.5 4-M10x1.25 Z Vil
89542-30260R 140 (1143 |62 60 739 55 112 5-M12x1.5 |4-M12x1.25 Z Vil
89543-30260L 140 [1143 |62 60 73.9 55 112 5-M12x1.5 |4-M12x1.25 Z ViI
92115770 140 [120 |71.5 | 695 [75.9 43 108 5-M12x1.5 |3-M12x1.75 Z Il
92115771 140 (120 |715 | 695 [75.9 43 108 5-M12x1.5 |3-M12x1.75 Z 1}

‘Flange '.Bolt 'B.olt 'W.heel 'Br.ake ‘Flange Hub No. of 'Bolt circle 'Bolt size . : Bearing | 'Flange
KML No. Dia. cgi(:? (Qfllzﬁity) gl::t g‘::t off set | pilot Dia. | spline Dia. Dia. Soit hTIe Siee Config- | shape

A B © D E F G J H uration K
92115772 140 |120 |715 | 695 | 759 43 108 5-M12x1.5 |3-M12x1.75 Z Il
513156 140.3 11143 |71.8 [ 71.3 |86 48 108 5-M12x1.5 |4-M12x1.5 z Vil
W135020H 140.5 1143 |799 |67 73.8 60.5 | 98.8 5-M12x1.5 |5-M12x1.25 Z Vil
3N61-2C299A 142 1143|719 |66.8 |74 63 98 5-M12x1.5 |4-M10x1.25 4 VIl
513157 1428 |114.3 |67 57 84 405 25 4-M12x1.5  |[4-M12x1.25 Y V
MR455003 1428 |114.3 |67 57 84 405 25 5-M12x1.5 |4-M12x1.25 Y V
513109 143 1143|733 (714 |97 537 | 127 31 |6-1/2-20UNF 4-1/2’x20UNF z |
VKBA3670 143 120 |79 725 |89.9 51 106 5-M12x1.5 4-M12x1.5 Z V
513082 144  |114.3 |73.32| 71.43| 86 576 | 1143 26  |5-1/2-20UNF 4-014.56 |
513107 144 1143 |[N/A |72 100 46 121 27  |5-1/2-20UNF 3-M12x1.75 Y I
515000 1445 1143 |64.3 | 63.78 | 100 51 120.6 - 5-M12.7x1.27 I
513044 1445 115 |70.63| 70.14 | 91 45 146 33 |5M12x1.5 M10x1.5/4-d11.25| Z Vil
513013 1445 |120.65/70.63| 70.14 | 91.98 | 47.28 | 12065 | 27 |5M12x1.5 3-M12x1.75 I
513061 1445 |120.65|70.63| 70.14 | 81.5 4726 | 12065 | 27 |5-M12x1.5 3-M12x1.75 I
92192305 1445 120 |67.2 | 66.8 42 116 5-M14x1.5 |3-M12x1.75 Z I
513137 145 115 |70.1 | 70.6 372 | 116 30 5-M12x1.5 |3-M12x1.75 4 I
513089 1455 1143 |71.35| 704 | 9142 | 4218 | 112 33 |5-M12x1.5 3-M12x1.75 z I
513088 1455 115 |705 |70 9125 | 42 116 - 5-M12x1.5 I
513087 1455 115 |70.63| 70.14|91.34 | 42.18 | 116 33 |5M12x1.5 3-d12.96 z I
513121 1455 115 |70.08| 70.08 | 91.39 | 69.49 | 116 33  |5M12x1.5 3-M12x1.75 Z I
513124 1455 [120.65/70.62| 70.14 | 91.9 47 12065 | 27 5-M12x1.5 |3-M12x1.75 Z I
513187 1458 115 |70.6 | 70.1 419 | 116 33 5-M12x1.5 |3-M12x1.75 X I
513179 1458 115 |70.61| 70.1 42 116 33 5-M12x1.5 |3-M12x1.75 z I
513200 146 |120 |705 |70 89 47 120.65 5-M12x1.5 |3-M12x1.75 z I
513016K 146 |115 |70.63|70.15|89.95 | 41.78 | 116 27 5-M12x1.5 |3-d12.7 z I
513059 1465 (115 |70.63| 70.14 | 90.05 | 42.18 | 116 33 |5M12x1.5 3-912.96 I
513016 147 115 |70.63| 70.14 | 90.05 | 42.18 | 116 27  |5-M12x1.5 3-912.96 I
52730-38102 148 |1143 |759 | 669 |65.9 59 100 4-M12x1.5  |[4-M10x1.25 Y Vil
HUB231 148 |114.3 |68 66 84 69 107 5-M12x1.25 |4-M12x1.25 z Vil
HUB330C 148 |114.3 |68 66 69 69 92 5-M12x1.25 |4-M10x1.25 z Vil
515003 1494 1142 |71.85| 70.45| 100.1 | 56.1 120.6 - 5-M12.7x1.27 I
515014 1495 1143 |72 705 | 100 56 12065 | 27 5-1/2-20UNF |3-M12x1.75 z I
515026 1495 1143 |72 70.5 | 100 56 120.65 5-1/2-20UNF |3-M12x1.75 Y I
513062 150 |115 |70.63| 70.14|71.8 65.14 | N/A N/A  |5-M12x1.5 4-011.94 |
513018 150 |115 |70.63|70.14|71.8 65.14 | N/A N/A  |5-M12x1.5 4-011.94 |
512004 150 |115 |70.63| 70.14|71.8 65.14 | N/A N/A  |5-M12x1.5 4-011.94 |
513041 150 |115 |70.63|70.14|71.8 65.10 | N/A N/A  |5-M12x1.5 4-011.94 |
513042 150 |115 |70.63|70.14|71.8 65.10 | N/A N/A  |5-M12x1.5 4-011.94 |
513188 150.3 127 |79 778 (919 469 | 12065 | 27 6xM12x1.5 |3-M12x1.75 Z I
512150 1504 1115 |705 |70 7.7 65 5-M12x15 |4-®12 4 |
512151 1504 1115|705 |70 7.7 65 5-M12x15 |4-912 z |
512152 1504 1115|705 |70 7.7 65 5-M12x15 |4-912 z |
512009 151.8 [114.3 |62 60 75 99 5-M12x1.5 4-010.5 Y Vil
30BWK16 151.8 |114.3 |62 60 75 99 5-M12x1.5 4-010.5 Y VIl
98544-48010 152  |114.2 |62 60 73.9 745 | 99 - 5-M12x1.5 -
42450-48010 152 |114.3 |62 60 74 745 | 99 5-M12x1.5 |4-M12x1.5 4 VIl
42460-48010 152 |114.3 |62 60 74 745 | 99 5-M12x1.5 |4-M12x1.5 z VI
513158 1535 |114.3 |72 714 | 100 483 | 12065 | 27 5-1/2-20UNF |3-M12x1.75 z I
513084 153.5 |114.3 |71.93| 71.43| 100.13 | 54.18 | 12065 | 26 |5-1/2-20UNF 3-M12x1.75 Z I
3DACF044D-9 1542 |114.3 |62 60 83.9 675 | 110 30 5-M12x1.5 |4-M12x1.25 z Vil

055



)
ML HUB Units and Wheel Bearings

515007 160.6 (1143 [732 | 7134|889 | 536 | 120 31 5-1/2-20UNF [3-M14x1.5 X I
513159 164 |[1143 (718 | 714 | 100 54 12065 | 27 5-1/2-20UNF [3-M12x1.75 Zz Il
S50KWHO1 169 (140 |94 67 86 375 30 6-M12x1.5  |[4-M12x1.25 Vv
515006 172.8 [139.7 |78.1 | 77.56[99.3 | 50.75 | 126 33 5-1/2-20UNF |3-M14x1.5 X I
FW297 180 |[139.7 (783 | 776 (993 |50 1259 - 6-M14x1.5 Il
515002 182 [139.7 | 781 | N/A | 9931 | 50.55 | 127 33  |6-M14x1.5 3-014.68 Il
515004 182 [135.03/92.3 | 86.7 [99.3 19.7 | 126 33 5-M12x1.75 [3-M14x1.5 X Il
515001 182 |139.7 |783 | 776 |993 |565 | 126 33 6-M14x1.5  |3-914.7 X Il
515024 182 [139.7 |783 | 776 [993 | 565 | 126 33 6-M14x1.5  |3-914.7 X I
29030411 203 [170 |128.8|125 |[113.8 | 51.2 | 140 8-M14x1.5 |4-M14x1.5 Y |
89411-B2010 100 |55 54 56 525 | 81.8 4-M12x1.5 [4-012.5 Y4

Passenger Car Wheel Bearings

Third generation wheel hub bearing units

DAC2F Series double-row angular contact ball bearings

| |

LLLLL <

HUB Units and Wheel Bearings

LCTel

Integrated raceway a DAC bearing is press fit into two flanges
DAC2F25ABS 135 |100 |54 55 545 |74 93.5 (4)M12x1.5 (4)MIOx1.25 Y VI
DAC2F38ABS 136|100 |54 55 545 |67 92 (4)M12x1.5 4M10x1.25 | 'Y Vil
DAC2F39ABS 136 |100 |54 |55 54 74 93 (4)M12x1.5 (4M10x1.25 | Y Vil
DAC2F21 1195|100 |56.5 |60 394 |85 104 (4M12x1.5 33 (3)M12x1.5 Y Il
DAC2F18 1355|100 |[56.5 |57 79 60 84 (4M12x1.5 (4M10x1.25 | Y Vil
DAC2F34 136 |100 |[56.5 |57 78 60 84 (4M12x1.5 4)M10x1.25 | Y VI
DAC2F34ABS 136 |100 |[56.5 |57 78 60 84 (4)M12x1.5 4M10x1.25 | 'Y VI
DAC2FII 130.5 |108 |65 68 37 83 103 (4)M14x1.5 26 (4)M10x1.5 Y \Y
DAC2F12 1305108 |65 |68 37 83 103 (5M14x1.5 (4)M10x1.5 Y v
DAC2F22 131 |108 |65 |68 373 |83 103 (4M1x1.5 26 (4)M10 X \%
DAC2F19ABS 140 |110 |65 655 | 78 60 84 (5M12x1.5 (4)M10x1.25 Vil
DAC2F10 131 |112 |57 68 70 95 (5M14x1.5 (5)XI0.8 Y VI
DAC2F24ABS 1365|112 |57 65 48 85 107 (5)M14x1.5 36 (4)M12x1.5 Y VI
DAC2F16 152 |114.3 |60 62 72 793 109.9 (5)M12x1.5 X125 Y Vil
DAC2F35ABS 136 |1143 |66 |68 409 |93 120 (5M12x1.25 @M12x1.25 | X
DAC2F36ABS 136 |1143 |66 |68 40.7 |80 103 (4)M12x1.25 BM12x1.25 | X
DAC2F07-1 149.2 |1143 | 7143|7193 | 542 |100.13 | 120.65 (5)1/2-20UNF2A 27 (3)M12 X Il
DAC2F32ABS 145 |115 |7041 37 904 116 (5)M12x1.5 30 (3)M12 Y Il
DAC2F29ABS 1505|115 |70.1 |706 | 65 719 100.6 (5)M12x1.5 42 Y |
DAC2F30ABS 1505|115 |70.1 [706 | 65 719 101 (5)M12x1.5 (4)12 Y |
DAC2F26ABS 1455|115 |70.14|70.63 | 42.18 [91.34 | 116 (5M12x1.5 33 (3M12x1.75 | Y Il
DAC2F27ABS 1455|115 |70.14|70.63 | 42.18 [91.34 | 116 (5M12x1.5 33 BM12x1.75 | Y Il
DAC2F37-1ABS 139 |120 |725 |79 51 90 106 (5M12x1.5 (4)M12x1.5 Y Vv
DAC2F37ABS 143 |120 (725 |79 51 90 106 (5M12x1.5 (4)M12x1.5 X \%
DAC2F17 145 |120.6 |70.14|70.63 | 47.28 (9198 | 120.65 (5)M12x1.5 27 (3)M12 Y Il
DAC2F17ABS 145 |5 70.14|70.63 | 47.28 |91.98 | 120.65 (5)M12x1.5 27 (3)M12 Y Il
DAC2F12AA 165.6 |120.6 _ 37 83 103 (4)M10 (4)M10x1.5 X \%




)
ML HUB Units and Wheel Bearings

Passenger Car Wheel Bearings

Wheel hub and bearings

| . )
Y, .
IIIL' Ve

£
Ni'e%.|

3|
o N
7 2

Wheel Hub Bearing and HUB Units

Second generation wheel hub bearing units

F for driven shafts

510024 138 100 (4)M12x1.5 57 59.75 52.65 - - -
518500 122 100 (4M12x1.5 56.85 60.86 53.5 76 (3)M8x1.25 31
518501 1257 100 (4M12x1.5 56.85 60.86 58.2 76 (3)M8x1.25 33
518502 125.7 100 (5M12x1.5 56.85 60.86 58.1 76 (3)M8x1.25 33
518507W 124 100 (4M12x1.5 - 53.9 59.5 - - -

—@

e

a DAC bearing is press fit into two flanges

Q N §

g :'m

518501 518502 518503

&

518507 520000

803640DC

@-




e
ML Wheel Hub Bearing and HUB Units Wheel Hub Bearing and HUB Units

Second generation wheel hub bearing units

for driven shafts

513104

513111

&

515032 580494 800179 980038

513202
512016

512024 512025

.
512106 512107 27BWKO03J 27BWKO06 28BWK08G

@ >

")

=4

512148 512154 2DACF028G-2 40210-VWOOO
Ll iii
1) 1
BTFB328755D 52710-29450
512162 512167 513030 3
e < .
513033 513035 513077 513079 52710-2D115 52710-34700 52710-34XXX 801191AD



7
ML Wheel Hub Bearing and HUB Units

Second generation wheel hub bearing units

for non-driven shaft

HUB181-22

HUB280-1

513155

K4321050Y00

DACF1083CR

633622

HUB184

HUB280-1ABS

TGB128%4

28BWK12

633622-2

HUB188-6

.

HUB29%4

TGB40175S05

BAF4047D

BAFB633807D

633622-3

HUB188-6ABS

HUBB042-32

TGB40540S06

BTF-1125A

633622-1

TGB12095S49

TKR8645

801191AD

52710-2D000

52710-29400

DACF1029

28BWK15

52710-25100

52710 -29450

DACF310203

IR -8688

52710-25000

52710-29XXX

513202

Wheel Hub Bearing and HUB Units

52710-2D115

52710 -22400

578413

580494

DAF20023

3502950

BAF-4104E

BAF0006D

BAF0095B

BAFO0013E

DACF1005CABS



7 )
ML Wheel Hub Bearing and HUB Units

DACF1005C DACF1033K DACF1033K-1

DACF1033K-2 DACF1091 DACF1092 DACF1097

- ® &

28BWK12 HUB081-44 HUBO083-15 HUBO005-39

HUB184 HUB188-4ABS

p— . ~ !

TKR8592 TGB12894 27BWKO03 DACF1041JR

HUBO048 -35ABS HUB048 -35 HUBO042-32 800179B

36BWKO02ABS DACF1050BJH HUBO002 HUB29%4

HUB280

52710-34700

akritl

43200-4M400

DACF1034AR-2

28BWK19A

805201D

HUB132

TGB12096S41

ks, ‘ _l.

52710 -34XXX

Wheel Hub Bearing and HUB Units

DACF1085 HUBO030-22

XTGB40490

&

DACF1034C-3

BAF-0125A

TGB12894S07

TGB12095S42

BAF4048C HUBO042

it

52710-2D100

576681EA 803640CD

o

HUB227

TGB12894 HUB249

TGB12095S49 TGB12095S48



7 )
K)IL Wheel Hub Bearing and HUB Units Wheel Hub Bearing and HUB Units

@

TGB12095543 TKR8569 TKR8637

Second generation wheel hub bearing units

for driven shafts

BE00733 580494C

o
) OO0

513004K 513013 513016K

TGB12933S01 IR-8574 512179

51KWHO1 512172 513050 BAF0103D BARO0053C 513017K 513059

HUB207 803199A HUB294-3 513061 513074 513075
s Q

TGB40266S01 7431795 805546C XBGB40600S02 513084 513087 513088 513089

512027 512165 513080

& &




e
ML Wheel Hub Bearing and HUB Units Wheel Hub Bearing and HUB Units

Third generation wheel hub bearing units

Third generation wheel hub bearing units
for-driven shaft

for-driven shaft

513121 513122 515018 515019 515020 515021

o

513100

513137(ABS) 513138 515023 515025 515026

513156 513157 513158 513179 515027 50BKWHO1Ejb B181A1471
. ' E ¢
a W : r
¥ "'r‘ ¥
513188 515000 515001 515002 BARO049A BAROO49E BARB243823AD

é
51500\BS) 515005 515006 515007 5745668 574566C 432027B600

> 2

515008 515009 515010 515017




7 )
KMIL Wheel Hub Bearing and HUB Units Wheel Hub Bearing and HUB Units

Third generation wheel hub bearing units

for non-driven shaft

-«
[&] Integrated raceway
5 & T

512000 512001 512003 512004

512009 512018 512078 512136
—

1 k. ]
(=]
512151 512152 512155 512156
L |

512191 513012 513041

513042 513062 513090 513159




7
KML Wheel Hub Bearing and HUB Units

B455-26-15XA

DACF04ABS

HUBBO057

DACF1097

DACF33

FFN1-004

HUB055-18

BAF-0037

DACF06-2ABS

TGB 12933 S03

DACF1097E

&

DACF37

HUBO065-15

DACF1065A DACF1076D

DACF06ABS DACF1050E

DACF1091

£

DACF18

®s

DACF39971AC

LY
HUBOO08

&

HUBO083-15ABS HUB094-19

HUB132

HUB142

Wheel Hub Bearing and HUB Units

HUB144

HUB147




